S0/ \FHEMMEEDBURSE  wwwonsems

00/ \EPEBHEES DT I FE L¥H (FHS3FOR30BIET) OHBUINRZRNSE LET,

SHN3FEDOBRDODFEIREL, 4, 136, 724FHELO>TNET, SEPICHRITDIHTIRRIL,
INAEBE1, 893, 372THTFHEICXITINAEGI45.8%. ZHFEE1, 593, 290FTHTF
BICXI T DR HEIGE385%EX>TNET,

1 BARUBmEDRR

—BAPHITRR— i TR —RBPERTRR - ¥
18 8 FEIREE IR EZE IR AR 18 8 FEIREE 2 HIEEE HITE
P EE YOI 3,776,530 1888282 | soon| i [ = =& 1,084 82 | 64%
BARROF SR 3214 1578 | s i 8 % = 60,491 19,0890 | sa0%
E % &b = 2357 1155 | so0d] i B ®B = 3023613 1,500,342 | se2%
g8 %X B £ 0 0 00% N & = 146,667 72877 | 497%
8 E I A 4,993 0 00% B3 = &= 4,669 0 0.0%
i Bt & 1 0 00%
12 % & 2 e} 00%
B IR A 4227 2357 | 558%
H &5 B 345,400 0| oo%
m A & = 4,136,704 1893372 |458%| | [ & & = 4,136,704 1,503,200 |385%
N T T AW AN T T e R WA T TR

2 HEENRES (%M 3F98308%KRE)
« S 3FORBOBREDHEGHEIRESIIS5 39, 455FHTT,

1[4
X 2 & %
=Pl 539,454,481




3 HMEHERES

(HR3EO B3 08IRE)
2 met i B W 5
HpE (B T8 EE=s 28
i 1,64082n1  |KIENRY T& 38
TE 1,266.15n N> TJ& 408
BE 103.09n1 [¥MBIIfFE 28
J\EERE = Orm=2] 28
i 6,22861n [{t¥=®: 28
TE 3,787.86nm |HkKS 18
BE 70758 |SFifFEE 18
[iipar— HRE 1286
i 1,831.34nt |R/EE 18
TE 107176 |&MXE 1086
BE 2712  |hiRE 18
BHIDE IBE =]
i 2,23576n1 |Eig®E 485
TE 72990n | AElEE =]
BE 160.60n |R—hk 12f
Plfyar— M—krL—5— =]
i 1,61355nt  |#H/NA 38
TE 90949 [¥OVFIYNAD 88
BE 504
BERT—Y3Y
i 794.19n
TE 29242
B 9.60m
EBDEwEERER (FMH)
i 1,229.28ni
fe) 862.53n1
SHEIb DR B () \EiM)
Tith 1,218.36m b i
=) 77967m  |EitE 15
SERDAKFIRRM (BHNIKIED %ENF 247TH
Tt 40545




